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! I'he coordination number of Cr' i the | [Crihon 1,0¢ e sremedo
complex [€i(l I JR 'Il €1 o &
(A)2 (13) 4 (A)? (")
AT (1)K ()0 (K

Which of the tollowing eahibits
Geometrical lsomerism 7

(A CHON),CL)!

(B [CANH )N CO(CN), |

(C) [Co(NIT ) (NO T

(I [CUNH [T,

:,./ Chlorophyl] containe
JAa) M {3 I'e
() Co (D) NI
4. Vitamin B, contains :
(A) Mg {13) lew
JO)Co (1)) Niw
2/ The number of unpaired electrons in
NiC13 is:
JA) Two (B3) Zero
(CyOne (1)) Four
0. All figands are:
(A) Lewis acid (B) |.ewis buse
(C') Neutral (D) None of these
7. Anexample of bidentate lipand is :
v
(A) H,0 (B) NH,
EC,08 )N

8. Which of the following does not belong
to Lanthanides ?

(A)Nd 2 M) Tm -
(C)Cm (MCce ¢
9. The clement between Thand Uls
(A)Np (B) Pa
(C)Pu (D) Am
10, Theoxidation state of uraniumin UO,Cl
82
(A) 12 (B) 13
(C) 14 ()16

KNP/CHEMISTRY-C/25,000

(1)

0.

9,

Py o A ouindly amanaen et

pen B 7

(A [CRONYCL)!

(3) [CrNTL), ICoACN), |
(C)JCoNTL) ANO T
(D) [CatNIE), 1

il afoien # B

(A) My () e

() Co (D) Ni

Pt 13,8 B

(A) Mg By e

(C)Co (1) Ni

NiCI; & ot gt A o
%

(A)A (B) g4

(€)% (D)ar ]
(A)®EE a (I3) @gW &R

(C) 3mrdrT M FR A o lt
e ooz a1 o & -

(A)H,0 (B)NH,
07 O N

Frg & & o dage AR @ ol

B?

(A)Nd (B) Tm

(Y Cm (I Ce

Thaa U & 49 @1 awa ®

(A)Np (B) Pa

(Y Pu () Am

U0O,ClL 3 2R 3 snaiir e
(A) +2 (B) 13

()14 (D) 16

(P10
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I Which ot the following is not a Lewis

base ?

(A) N~
(B) AICl,
AC)ROH
(YN,
The conjugate base of bicarbonate ion
IS:
{A)YH,CO,

¢

(B) HCO:,_,

© co3~

(D) ICTO2

is:
(\z}) NH,

(B) BeCl,

(C) BF,

(D) AICl,

The conjugate acid of H,O is :

(A) OH™
(B) H,0,

12 Hy0"

" (D)HCl

15. Which of the following is the strongest

acid ?

B% CH;COOH
(B) CICH,COOH
(C) CL,LCHCOOH
(D) C1,CCOOH

KNP/CHEMISTRY-C/25.000

3 The compound thatis nota Lewis acid -

1.

14.

15.

Rrer § 4 @ wgd &) aE B 7

(A) CN~

(B) AICl;

(C) ROH

(D) NH,

aRFERe TaT § WA 4R %_ 2
(A)YH,CO,

(B) HCO;

(C) O3~

Pr & @ f-ar AP =8 o T
27?

(A) NH,

(B) BeCl,

(C) BF,

(D) AIC,

‘H,0 1 §g o7 & :

(A) OH

(B)H,0,
+

(O H3O

(D) HCI

=1 3§ @ e ofte afmae o A9
wr? |

(A) CH,COOH

(B) CICH,COOH

(C) CL,CHCOOH

(D) C1,CCOOH

https://www.csjmuonline.com




https://www.csjmuonline.com

16., In the Ostwald's process for the
manuliciure of HNO, the catalysi tsed i
(A) e ()"
SO V04 (D)Ni
17, Re(IV)has theeleetronic configuration :
(A)d? (13) ¥
(Cyd? A d?
18, M-Mbond is present in ;

2.
(13) Wi

() el (1) Moy(OR),
19 The stublest oxidation state ol Auis ;
(Al AN

)V (M-
In the oxidation process, the oxidation

(A) [Mo(CN) o

number:
AA) Increases
(B) Decreases
(C') Does not change

(D) Sometimes it may increases or

decreases
21. The change

-

/n +2¢— Z"(s) is:

(uq)
(A) Oxidation
_AB) Reduction
(C) Redox Reaction
(1)) None of these
2. Which of the following is a Redox
reaction ?
(A) NaOIl + HCI > NaCl + H,0
(B) AgNO, 1 11Br — ApBf I HNUj
(C) BaO, t HISO'J » BaSO, 1,0,
() 2HeCl, +8nCl, »H;_.ztl i‘\l'l(l
23, Whichofthe lollowmg, docs not uhcy
EAN rule ?
(A [Cu(CN),J*>
(B) [PYNH,),1**
(C) [PA(NH,), I
/(-“J [Cr(CO),

KNP/CHEMISTRY-(/25.000

(5)

in,

22.

streearos 1l a4 JING @03 4 b a0
et Wl wd B B

(A) e {14y In
(C)V,0, (1)) N
Re(IV) 4 gaadiifg (e ?
(A)d? (1!
(! (1yd?

M-M & 3ultae B

(A) [MOCN)) ) Wi

(Cyle, ), (1) Mo,(OR),
Audi u«m sitaw ol stadia.on seea b
(M (13) !

(v (-1

ol sfr # sl ded
(A) 4

(13) it

(C)&v uftada 78 B
(D) &R 4@ o w2l

e
/u F2e "/'”f_n,j.

h 1)

i oftad B

(A) anFdiat

(13) S04

(C) B B

(D) ot @ B @t

Rrer & @ ata-di etaq affem
g7

(AYNaOI 1 HCT — NaCly HO
(B) AgNO, + HBr — AgRBr + HINO;
(C) BaO, 1 11,50 ~> BasSO, 1 11,0,
(1) 21TpCly 1 SnCly —> T, Cly ! sn(l,
i A A AN Frm 78 ae ?

(A) [Cu(CN), 1> ,
(B) [P(NH,),)*
(C) [PANH ) 1"
(D) [CHCO),]
10)
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24,

|5 ]
:JI

26,

27.

28.

29,

33,

The colourof Cu,Cl, is:
(A) Bl B) Green”
(C) Black~ (D) Whites
Whichof the following ion shows highest
magnetic moment ?
(A) V3 (B) CP* o~
AC)Fed3no XD) (o
Which ofthe fol lowing ion does not give
coloured solution
(A Cr¥ ,ﬂ}) Mn?*
(C) Fe?* (D) Zn*t
Which of the tollowing has the maximum
number of unpaired d-electrons ?
(A) Mg (B) T
SOV D) i
Which of the following ions is coloured in
solution ?

(A) Cu* (B) Zn**
(Cyv¥ @
Chromite is the ore of -
(A)Cr JB) Mn
(C)Ni (D) Pt

The catalyst used in the h ydrogenation
ofoilis:

(A) Fe (B) Mn
(C)Ni ¥D) Pt
Liquid matal js :

(A) W (B) Pt
(C) Zn ) Hg

Platinum metal can be dissolved in:
(A) Hot conc. HCI

}B) Hot conc. HNO,

(C) Hot dil. 1,80,

(13) A mixture of conc, HNO, and conc.
HCl
Bronze is analloy of :

JA) Copper and Tin

(B) Copperand Sicel
(C) Copper and Mercury~y_
(D) Copperand Aluminium

KNP/CHEMISTRY-C'/25.000

- 30,

(6)

26,

lad
frd

Cu,Cly 1 g

(A) Trar (B) &1

(C) Fem (D) 7%

M 8 A o 5l ofas g
syt gefia Fwar & 7

(A) VH# (B) Cr3*

(CyFedt (D) Codt

et & & S-ar amge 9 e 948
e ?

(AP (3) Mn?t

(C) Fe?* (D) /n*

et & 9 Bt oy i A 5 g
d-3aR & ?

(A) Mg?* (By 1+

(C)v3 (D) Ti*

9/ BA-@w g9 Y fae
am ?

(A)Cu' (B) Zn?*
(CyvH (D) T
PIHITE, T AT D -
(A)Cr (B) Mn
(C)Ni (D) Pt
0 % BTG F a3 ST
FaE?

(A) Fe (B) Mn
(C)Ni (D) Pt
T g @

(AW (B) Pt
(C)y7n (D) Hg

(A)T a/Z HC| &

(B) T g HNO, 3§

(C)mt 77 H,50, %

(DYE= HNO, 7 @/ HCI 3 o
i

ﬁ'ﬂT ﬁﬁq@ 3.

(A)arar qar @ %

(B) drar e zaqe 3

(Cyamr o o 3

(D) ey T o &

§
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4. Which gives Cannizzzaino reaction
LA CHCHO (@3 CHLCH,CHO
(CVHCHO (D) (CH,),CH-CHO

35 After reduction of Ketone. gives
(A} Secondan alcohol
_qui] Priman alcohol
(O lertian alcohol
(1) None of these

6. Prynamite was discovered by
(A Victor Cmgnand
(BY H.Gi Khorana

JO) Altred Nokel
(1)) None of these
Ghveolisa:
A} Monohvdric alcohol
(B) Dihydne alcohol
(C) Trhydnic alcohol
(D) Tetrahydne alcohol
38 Benzaldehyde does not react with :
(A) Tollens' reagent
(B) Fehling solution
(C) Schiff's reagent
(D) None of these

39 Which of the following compound is maost
basic ?

A) Aniline (B) Benzylamine
(C) Acetanilide (D) p-nitroaniline
Aniline undergoes oxidation with
,‘\iaZt’..‘r:(.).,,-"I-_i_ﬂ_):_l to give :
(A)Schiff'shase  (B) p-Benzoquinone
(C) Phenol (D) Benzotice acid

41, Whichofthe following reagents does not
react with Aniline ?

(A) Acetyl chloride

(B) Acetic anhydnde

(C) Ammonia

(1)) Nitrous acid

Which of the following reagents are used

te prepare benzene diazonium chloride

from gmbing R

CAINaNO HO)

CrNHNH /KO

KNPCHEMISTRY 25,000

40.

() LiAllI,
(1) NaOH]

(7)

34

36.

37.

40,

41.

A PR sfufg 2y 7
(AYCHCHO - () CHCHLCHO
(CYHCHO (DNCH),CH CHO
WA F AT QT g P

(A) fadies contew

(13) srafire teded

(C) gfes venss

LR

g @ WA @

(Al fmaad

THLCE B L

(C)yospy s

(D z8 A &

A ? UF

(A) TAREE oediE

(B) emf® repeA

(C) grimefEs oepms

() Feerfys o=HEs

Fafeeerz wtafsm R 7w B % Am
(A) 2o aifwgats

(13) Hfem Raaa

(C)yforw  wiwpsts

(M 3 A A Tl

Pt & & f-a A maR sfes whig
R 7

(A) v (B) F=wanir
Oy (D) p-argiRdm

ofei Nuz('t‘!(),'llz!'i(!l* s SRR
BF 2 R .

(ARE a7 (B) p-a=afsna

(C) Resite (D) F-AzE gy

Fret & & 39w aftreds s 3 am
b 8 w2

(A) offes TR

(B) oftfes meRgige

(C) 3N

(1)) IRgH

e 8 & a9 afhasts dfad A
T atim sagz w9 % g
F@AR?
(AYNaNO,HCL
t('}.’\.’tlz!.\'ll: NOI

l,lhlt.r\l“i
N NGOH

Oy
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43. Which group is react with water (o form
ammonia "
(A)~NH, (13) ~CoNH,
AHC)=NO, (D)~ CNwa
Which compound represents geometrical
Isomerism 7
<) Lithane (13) Propence
(C) 1-Butene (1) 2-Buiene
In the following, which is the most basic??
AAYNII, (13) €l NI,
f'(')(‘.,)l]':.‘f\“l2 (12 None of these
Whatis Cin the following reaction 2

44,

45,

40,

L H,0 NG /A
CHRON -2 Ay o3 )

>
12()5 SO
(A) Hydrogen cyanide
(13) Methylamine %,
M Methy! cyanide
(1) Acetamide
In LNUT.:
(A)3NO,
(C)NO,
Cane sugaris
AAK) Monosaccharide
(13) Bisaccharide
(C) Trisaccharide %
(13) Oligosaccharide ™
The compound which is most capable ol
hydrogen bonding is
(A) CH;OCH,CH,
(13) CH,CH,CHLCT,

M@—nll

(D) CH,CH,-$-S-C11L,CH,
I:sters are obtained by the reaction between:
(A) Acid chloride and alcohol
(B) Acid anhydride and phenol
(C) Acid chloride and phenol
_AD) Allolthe above

328

o5
81 30

47,
(13) 2NO,

(1) 4NO),
48.

49,

50,

gNIP/CTITEMISTRY A 125.000

(8

43. @A aige 9 g e @ el
T e Y '
(A)~-NH, (B) —CoNI I
(C)-NO, (D) —-CN

Fis-ar Afw safadia aeaar gafda
& g7

(A) U (13) 9t

(Cyl-zdm (D) 2-2Em

Frer o & Fi9-ar walfas ardm 8 ?
(AN, (13) C,HNH,
(C)CHNH, D)z & FE 7
Freiferfeaer arfafrar & C 7 8 ?

11,0 NH, /A
CHRON =S (A) ———(B)

44,

45.

406,

Pz“s _ .
R SR _)(( } F:/'U{"

(A) R HAIZE -

(3) frarzar ayfrr

(C)Fraza amaes

(D) NfemREe

il fla o B O

(A)3NO,

(C)NO,

P G T

(A) HIAIAHTEE

(13) ArgdaEe

(C) T aHTEs

(D) ez

BT A BRFeE d gy ¥ waifs

e g ?

(A) CHLOCTLCH,

(13) (.,'IIj(','ll‘,_('llz(.'l-lj

(C) @()l l

(D) CH,CH,-S-S-CHLCH,

e aifufhar @ we Piee @

(A) tfaz FaEe T TR

() tfge Aerggze ST fE

(C)ufe s o fuwia

(D) 3T ad o
VA

https://www.csjmuonline.com

47.
(B) 2NO,
(D) 4NO,
48.

49,

50.

*
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Whatis B inthe tollowing reaction ?
.

PCl-
CH,CH,CH,OH —_ 2 5 (A)

__aleKOH _(B)

iA) Propane (B) Propene

L€ Propanol (D) Propanc

Benzene diazonium chloride reacts with

wam watero give

(A} Aniline (B) Phenol

(tC) Benzenew

3. Whichis the least reactive aldehyde ?

AAYHCHO (B) C,H,CHO
(C)CH,;CHO (D)C,H,CHO
Ethanol is isomeric with :
(A) Dimethyl ether (B) Ethanal
(C) Diethylether (D) None of these
Three membered cyclic ethers are called:
() Lactone (B) Oxirane

AC) Aloxide (D) None of these
Active ion of Tollens'reagent is :

T
doa

4
Yy

(AN cy™ (B Cu(NHy)3

(€) Ag™ (D) None of these
What is A in the following reaction ?

C()HjC'HOf‘{CHBCOJ:O

A
~J

CH,COONa
180°

(A) Cinnamic acid~(B) Cinnamaldehyde
W) DDT (D) None of these
What is B in the following reaction ?

aq. NaOH
_—

58.
CgHgCH,Cl (A)

Oxidation

»(B)

(B) Phenol
(D) Benzaldehyde

(A9 Benzoic acid
(C) Toluene

KNP/CHEMISTRY-C/25.000

JD] Chlorobenzene -

Y

"
12

L
Led

Lh
tn

h
=

57.

(9)

s ofifRr A BT 2 7
PCI,
CH3CH,CH,OH ————(A)

alc. KOH
—_

(A) ST (B) Sl

(C) SR (D) it

i SESIE s T O & S
D 4 B -

(A) TR (B) et

(C) (D) FRSA

T8 &9 franfer aiteerges a9-ar 8 ?
(A) HCHO (B) C,H,CHO
(C)CH,CHO  (D)C,H,CHO
Qg geEgat €

(A) SRR $R (B) Qgar

(C) s X (D)7 & #K 7
9 TERiig 9ig T Fedd € ¢

(A) A (B) 3T

(C) Teidigs (D) & B T
3o ATEHS @ Gk AT R

+
(B) Cu(NH;)3

(C) Agt  (D)FH A 35 T

=T offerr # AT 8 ?
CgH5CHO+(CH,C0),0

(B)

(A) cut

CH3C00Na
»(A)
180°

(A) % o7a  (B) RFwfesers
(C) S (D) & 5 7
frfofea aftfear A B & ?

aq. NaOH '(A)

CGHSCHZCI

Oxidation (B)

—>(

(A) 3~iig® ot
(C) e

(B) Rt
(D) ofezergs

[PTO|
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39. Unirofwavenumberis:
(Aym Brkmly
HLyent 5 Myany
60.  Regicnof UV spectrum is:
JA)571065am (B)0.01-13nm
(C)204-400nm  (DjNone of these
61.  Fingerprintregion in IR spectrais
(A) 100-400 cm”!
B) 500-800 cm”!
(C) 1300-667 cm™
(D) None of these
62.  When Phenol is treated with neutral
FeCl, solution, it develops :
(A) Violet colour
(B) Yellow colour
JC) Green colour
(D) Nothing happens
63.  Phenol isacidic because of :
(A) Resonance
(B) Electromeric effect
JE) Inductive effect
(D) Peroxide effect
6{_ Which is Hvdroguinone ?

) OH
»O @)Cj

( C) (D)

OH

65.  General formula of secondary aleohol is :

(A)-CH,OH  (B) >CHOH

H
L) C-OH D) c<§§H

66.  Explosive Nitroglycerinis:
A} Soap (B) Complex
(C) Ester (D) None of these

KNP CHEMISTRY-C 25.000

&),

61.

62.

(10)

ATEE S AR

Ayt B km?

{Cyem D)an

UVEms g 83t

(A)5+10° nm (B) 0.01-15 nm
(Cy200-400rm (D)2 7 & #

IR #5371 8 Fpdem & 2
{A) 100-300 cm™
(B) 300-800 em™!

i‘Cj]BffJ-*S-f)"um'
(Dyz=% = = 8

mwm&(‘l,%mm
T 2, % Zal &

(A) T @
(B) T= 7
(C)zo
(D)%B 74 &
AW 3G o 8, 2 @
(A) 57T
(B) T¥HAIE 79
(C) 37 ToE 7w
(D) 759z Vg
B BRI 2 7

OH OH

H

(A) (B)

OH
©) (D)

OH OH

fxiia ooied @ AW G5 B
(A)-CH,0H  (B) >CHOH
(C)C-OH (D) C<gﬁ
Repies Aol & -
(A) A (B) e
(C)uex (D)gH & o T8
29

< Ghittps://www.csjmuonline.com
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67.

o7 A saturated solution of Ag,80,is 2.5~
HM, the value of solubility product is:
(A} 325+ 104 (B)3.125~10"*

(CY15.025-10¢ UP)62 5 10%

68. Which of the following onder of relative

strength of acid is correct !
(A HLSO > HBr >NHO~HCI0
(B) HNO >H,80 > HBr >HCI0 .«
O HBr ~HCI0 > HNC WSO,
(M HCIO > HBr >HNO > 11,50,
69, What s the value of concentration of the
clectrolyte in standand clectropotential ?
J) N (B) 2N
W) | mole (D) I molal
70, Na( 1 clectrolyie s -
o) Weak
AR) Strong
() Both{A)and (B)
(D) None of these
71 Which is correct relation ?

B)a =2 - X%

(Aya=A +A_ \

(Cya=a, /4% (D)Noneof these

12, Mixture of Toluene and Benzenc is :
JA) Ideal solution
(13} Pyas solution
{C) Both (A)and (B)
(D) None of these
73 Which of the following is non-idcal solution”?
(AJCH I & C,H,OH
(B) CHLON & C,HBr
() Br & C,HLI
(I CH, & CHCH,
74, Henry Law is applicable for ;
S A deal Gas
(B Real Gas
(C) Daatomie Gas
33 natomie Gas
Cantof cell coefficient is -
x J}J edim Yo ! (B) ohmem
() om (Dyem!

SNIECHENMISTRY 725 000

68.

69,

70.

71.

1.

74.

75.

25510 M. Ag,SO, & 8@ Re b
R Rava TS 3

(A)5 25=104 (B)3125-10%
(C)15.625-10% (D)625~10%

¥ A o gl @ e g 2
3w &1 5l ¥ ?

(A)H,S0, > HBr >NHO,>HUIO,

(B) HNO>H,50 > HBr >HC 10,
(CYHBr>HCI0 >HNO>H SO,
(D) HCIO > HBr >1HNO > 1 50,
7% @wn m gy st @
arze R B 3 2

(A)IN (B) 2N

(C) I mole (D) | molal

NaC'l Riee-s19aza &

(A) T

(B) 7Ry
(C)3 (A) AT (B)

(D) ¥ 3 B T#
Fr-were e t ?

(A)azlvq-lm (B) u:lv-lm

(@a=r /2, O a¢#B

i o Ag @ Ry
(A) I=d R

(B) | R

()3t (A) 3T (B)

(D)5 3 = 7@

s 4 8 &9 sred R 3 2
(A)C,H I & C,H,0H
(B) C,H,CI & C,HBr
(€) C,H,Br & C,H,Cl
D) C, ‘& C, H (‘n
¥ & Fram mq i‘tm 1Y
(A) 3t w3 R
(B) arafes ' 3 g

(C) Rvrareps fa & R
(D) Favas ¥ & R

A Rertis @ 7ot ¥
(A) ohm'em! (B) ohmem
(Cyam (n] emt

https://wR¥ Qdjmuonline.com
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76.  Which iscorrect ? 7. Wa-mE® o
(A)PH + POH =1 (AYPN - ptt o
(B pH & pOH =7 (B P pon -
\l(‘\' pil a }u‘lll 1 Wy P pmt }
(D) PH = pol i pit o puit]
.":,-’ Onidanion takes place In clecmchamical =T '}{{ﬁ—?.‘;“ﬁf:f?ﬂ'.’-‘r @ B aRiFEm o
ool %
A Aranade BARGIGH
{BY At cathede (B IE R
()Y Both (A) and (B) ECREVE sEIRE
(D) None of these INFE & ¥ ad
78 Correct relationis - 7%, s e
(A pH — pOH S pRn (A pil - poH | phe
{B‘ pH ~ pt‘lll = Phw (B pt . pnll phw
(CYPH = pin Pt pie
Um pnll - plm L!“ !\un phn
79. EZn Zn " =7 ) Fin /n~ = =7
JA0Te N EANURAN
(BYO.76 V' B) 0.6\
(O Both () and (B O () A
(DY None of these =8  [E 1
0. NaClwatersvstemisa: S0, Nall o & ¥ O .
{A) One component system (A TF ©TF JORY
«(Eﬁ IWwo component system (B) A 5F Toreh
0 {C) Three component system (O TN °F o
(DY None of these O | 22 =§
S\i./ Firest law of thermodynamics is the law Sl ISt 5 oouw g Y
ot W T 3 frem
(A) Entropn R e <ot
(B) Free energy BI IR S A
&) Consenvation of eneryy (VS dw 5 P
{D) None ot these IMEFH & #F a8
§2,  Insolid Argon. atoms are held together 82 3w e 3§ THY TS § SR W
by: g )
g-.dﬁ lonic bonds ) SRS T g
(BY Hyvdrophobic forces (B Twie s 3w
(OY Hydrogen bonds (O) TS & g
(D) Van der Waals' forces =T 979 s3I
KNP CHEMISTRY-C 25,000 ( 12
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R Which of the roliowing uniis represents
larpest amount of enery
A Sousde By Calones
O Elecrronvolt 1D None of these
84 Forlgmmeolesoranideal gas
A -G, ZR‘ B¢y 0 X

R
Gy R e

s One of the tollowing does not hnvdrolyse:
i A0 S 34 Bike( ij
HETCaCL (D) Snd,

86 Atequilibnium the Gibb s free enerpyv is
{4 Positive
{B) Negamve
{C) Positive and Negative both
S Zero
87.  The pH of a 10°" molar HCI is
approximaieh :
A1} By~
Cridy {10
88.  Surtace Tension of all hquids becomes
zeroat:
VLI (B1-273°C
SO -7 D) Crucal temperature
SO, Irres ersible processes are those in which:
(AL AS <) B AS>0
(CrAS=0 D AS =1
of.  Marhematical form of distribution law is :
TA' k= & K= E]r:
A Cs ¢B) . (‘:
oGy
(LR, ) B T

91, Ostwald's Dilution law is expressed by
A the equation : ,
- “C
AK=—— BIK=C
C(l-a) -«

., Cl-a) .
OK===" D K=—

KNP/CHEMISTRY-C 23.000
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“1,

(13)

87.

88.

89.

g § 7 39 %1 @a@ 3d @R
PR 2 7

(A)F (B) FATH
(g dme (D)7 F & 7
wed & 23 F9 %
(A)C,-Cp=2R  (B) Cp-Cy=0

R
€)C,C=R  D)CCy=

= & @ o IEeT 8 9§
(A)snCl,  (B)FeCl
(C)CaCl,  (D)SnCl,

a7 el qE S B A A R
(A) gD

(B) =%
(C) G19% @ FoTHE 21 8
(D)=
10-10 @y HCl 1 pH @em #a
2
(A) 1.0 (B) 7
(C) 14 (D) 10
frg A9 T B 2 | IR T #@ A
g & AR ?
(A)0°C (B) -273°C
(Cy=273°C (D) =ik A9aH
aimﬂﬁﬂmﬁ%mﬁ:
(A) AS<0 (B) AS>0
(C) AS=0 (D) AS=1
Ry P & TR w9 B
C K = Cl

|
K=— (B

Ky

9]
-

(C)K=C,C, 1D1K=‘(T
e & o B B e E

o F €

2 ﬁ—n

a” .ooa™u
A K= Bl K=—
) Cl-a ' -
. Cl=- T-Q
@OKR=="v" ==

- K

- ARRA
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HOOC(CH,), COOH. Tt o= 3

92.  Insuccinic acid HOOC-(CH,) -COOH. 92.
nisequalto: n R E -
(A1 B)2 Al ®) 2
(©)3 D)4 ()3 D)4
93. In Exothermic reaction : 93, Fomadl arfdfmn ¥
(A AE =0 (B) AG =0 (A) AE =0 (B3) AG=0
(©) AH=-ve (D) AS=0 (€) AH =-ve (D AS-0
94, For the reaction 94 N, + 31 |3 = 2NI 1_1‘
N.2 +3H, _\:-—AZNI'!B_LIP 1s equal to ; \g{fgﬁm 4 q AL g
(A)q-2RT  (B)q,i2RT (Mg 2RT (B 2R
(C)q.+RT (D) q.-RT (C) g, RT (D)g,-RI
95. Which is not correct relation ? 95. Pre-u G qel el g7

(A)AE=q+w
(B) AH =AE -PAV

(AYAE=q+w
(B) AH = AE —-PAV

e) AS =.-?: () Ah%
(D) AG = AH-TAS ~ (D) AG = AH-TAS
96.  Inlsothermal expansion of ideal gas : 96. amedt g & e maR A
(A) dT=0 JB) AE=0 (A)dT=0 (B) AL =0
(C) W=0 (D)dV=0 (CYyW=0 (D)dv 0
Q7. HZ -f—(flz —» 2HCl+ 44 Kcal heat of 97, “2 +C'|2 - 2HCI+44 K cal 92918+
formation is : o ;
(A)44 Kcal (B) 44000 Kcal (A)44 Kcal (B) 44000 Kcal
(C) 22 Kcal (D) I'1 Kcal (C) 22 Kcal (D) 11 Keal
98.  Joule-Thomson cocflicientis : 98.  S@-dE ITE &
JE ( 6HJ {?’L) ‘f‘.‘.)
@{ar), et )p Wlar)y  ®Llar),
(0] g_ﬁ] ~ (_5_1:} o
99, True for Adiabatic process : 99,  waw ofkar & fao @ ® |
(A)g=0 (B)g = -w (A)q=0 B)q -w
(C)g=+w 4D) PAV =0 (Cya=tw (D) PAV = 0
100.  Whichis not stable property ? 100. F=1 & & P-wr Raw s w8 ¥ ?
(A) Intemalenergy  (13) Volume | (A) IaR® S (B) S
(C') Heat (D) Enthalpy (OL (1)) ¥
,
(14)
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